














Paper Code No.: 25

27. Construct a frequency distribution | 27. mavldles;m somengiod milmye Bn}
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Questions 28 - 30, Answer any two of the

following. Each question carries 5 score.
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28. Draw Ogives for the following
frequency distribution and locate
Median
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"Green Revolution has not achieved its
targeted goals fully". Examine the
statement with reference to the
limitations of Green Revolution.

Explain how the agriculture allied
activities {any two segments) would be
beneficial for the rural devglopment.

Questions 31 - 33. Answer any two of the
131 aymmi 33 nisewyep caiamesl

31. "Globalisation is the outcome of the
policies of liberalization and
privatization". Assess the impact of

these policies on Indian Economy.

28, moew ad0smaildkeayT o all;o
a5l P 00UTla] S Fid o
@l DAL B 5 NI o,

| o

0-5

5-10
10-15
15-20
20-25
25-30
30-35

Ry o

29. ‘aodimailyois eeoion] pedueissnyamd

aFUmImle amsloilg’ @D (wmimon

mew nodlimallyuomen ol

2O STUTWBSIOT alElBuBUlan) .,
30, @odadls mmysumy coasersud (npamn
&lego 2 apemo) (wozlem allemumamia
AEEHHT (AGD I M SOOI il
BROBD],
following,. Fach question carries 8 score.

~pEmEIE]s ROSRGDITIT pODGASYIM)E. Meadd § nfime)

3. “myenoglenams apmmal paooleosm
amlaafwie Tuo o) ol S o em m)
atfmle atlemlm anemasd”, momynd
mumdaljarunoind @D mosmayes aoes
sl oilermlo)om ).







	1
	2
	3
	4
	5
	6
	7

